=S SVEDBERGS

<so
96939: 1 5OCC (Krom, Chrome)

(1)

(DKO

Specialverktyg for byte av termostat
medfoljer reservdel 98840.

Spesialverktoy for bytte av termostat
folger med reservedel 98840.

Specialvaerktgj til udskiftning af termostat
medfolger reservedel 98840.

Varaosan 98840 mukana toimitetaan
erikoistydkalu termostaatin vaihtoon.

Special tool for exchanging thermostat
is enclosed with the spare part 98840.

B koMmnnekT nakeTta 3anacHbIx getaneun 98840
BXOAUT cneumnanbHbIi MIHCTPYMEHT Ansi
3aMeHbl TepMocTaTa.




96939: 150cc

Pos. | Ant/Qty Titel / Title Art.No.

1 2 Gummipackning med filter / Rubber packing with filter

2 2 Lasring for backventil / Locking ring for non return valve

3 2 Backventil @14 / Non return valve 314

4 2 Séate for backventil / Seat for non return valve

5 2 O-ring 15,6x1,78

6 2 Anslutningsmutter G%" (R20) / Connection nut G%" (R20)

7 2 Anslutning fér sédte / Connection for seat

8 4 O-ring 25,12x1,78

9 2 Koppartétning / Copper gasket

10 1 Duschslangsinfiastning / Shower hose connection

11 1 O-ring 17,17x1,78

12 1 Skyddsbricka / Cover

13 2 O-ring 37,82x1,78

14 2 Skruv M4x10 / Screw M4x10

15 1 Bricka / Washer

16 1 Flédeshandtag / Flow regulation handle

17 1 Handtagsknopp krom / Knob for handle chrome

18 1 Fastmutter tatningssats / Cartridge fixing nut

19 1 Omkastare 2011 / Diverter 2011 98937
Keramisk tédtning 2010 / Ceramic cartridge 2010 98841

20 1 Blandarhus / Mixer body

21 1 O-ring 11,11x1,78

22 1 Plugg 15x1,5 / Plug 15x1,5

23 1 O-ring 14x2

24 1 Duschslangsinfastning G2 (R15) / Shower hose connection G2 (R15)

25 1 Termostat / Thermostat 98840

26 1 Fastmutter termostat / Thermostat fixing nut

27 1 Temperatursparr / Temperature stop

28 1 Lasning temperaturspérr / Locking for temperature stop

29 1 Temperaturhandtag / Temperature handle

30 1 Skyddsbricka / Cover

31 1 Temperaturspérrfjdder / Temperature lock spring

32 1 Tackhylsa / Cover

33 1 Temperaturknopp / Temperature knob




<so
96940: 1 6OCC (Krom, Chrome)

=S SVEDBERGS

3)

(DK>

GB
RU

Specialverktyg for byte av termostat
medfoljer reservdel 98840.

Spesialverktoy for bytte av termostat
folger med reservedel 98840.

Specialvarktgj til udskiftning af termostat
medfolger reservedel 98840.

Varaosan 98840 mukana toimitetaan
erikoisty6kalu termostaatin vaihtoon.

Special tool for exchanging thermostat
is enclosed with the spare part 98840.

B komnnekT nakeTta 3anacHbIx getaneun 98840
BXOOUT cneuuarbHbIA UHCTPYMEHT ons
3aMeHbl TepMocTara.




96940: 160cc

Pos. | Ant/Qty Titel / Title Art.No.

1 2 Gummipackning med filter G¥% (R10) / Rubber packing with filter G% (R10)

2 2 Lasring for backventil / Locking ring for non return valve

3 2 Backventil @14 / Non return valve @14

4 2 Sate for backventil / Seat for non return valve

5 2 O-ring 15,6x1,78

6 2 Anslutningsmutter G%" (R20) M26 / Connection nut G%" (R20) M26

7 4 O-ring 25,12x1,78

8 2 Koppartitning / Copper gasket

9 1 Duschslangsinféstning / Shower hose connection

10 1 O-ring 17,17x1,78

1 1 Skyddsbricka / Cover

12 2 O-ring 37,82x1,78

13 2 Skruv M4x10 / Screw M4x10

14 1 Bricka / Washer

15 1 Fl6deshandtag / Flow regulation handle

16 1 Handtagsknopp krom / Knob for handle chrome

17 1 Fastmutter tétningssats / Cartridge fixing nut

18 1 Omkastare 2011 / Diverter 2011 98937
Keramisk tatning 2010 / Ceramic cartridge 2010 98841

19 1 Blandarhus / Mixer body

20 1 O-ring 11,11x1,78

21 1 Plugg 15x1,5 / Plug 15x1,5

22 1 O-ring 14x2

23 1 Duschslangsinfastning G2 (R15) / Shower hose connection G2 (R15)

24 1 Termostat / Thermostat 98840

25 1 Fastmutter termostat / Thermostat fixing nut

26 1 Temperatursparr / Temperature stop

27 1 Lasning temperatursparr / Locking for temperature stop

28 1 Temperaturhandtag / Temperature handle

29 1 Skyddsbricka / Cover

30 1 Temperatursparrfjader / Temperature lock spring

3 1 Tackhylsa / Cover

32 1 Temperaturknopp / Temperature knob

=| SVEDBERGS

| 2011-05-16 |
(4)




